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ORIGIN :=1

=0m =10 m
S:=15m mass =1 kg As:=i= 1.5m o 10
10
Yor=Tm Yip:=10m
9
PE(x,y):=Q-mass+ »,y Why we cannot have here only one argument y?

i=1

Guess values

S=\/<xO—x1)2 +<y0_y1>2 + ﬁj\/(xi_l—xi)z +<yi_1—yl,)2 +\/<x9—x10>2 +<y9_y10)2

2 2 o | \/ 2 2 \/ 5 5
4 As = (xg—xl) +(yo—yl) §|As= (xi_l—xi) +(yi_1—yi) }|=8 As = (xg—x,o) +(y9—y10)
B3 P
[ L= Minimize (PE,x,y)

stack ()’an,J’m) (m)

6

stack O}an 7y10> (m)
> [ ] []

stack (xg,x,x;9) (m)
0 . «

v
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2 2
As = \/(xm—x9) + (ym—y9) =0

2

+ <ym— y9>2 =30.887 m



Guess values  i:=1..9 X:=iem Y=Yy
1 1

2 2

S=\/<x1—x0)2 +<yl_y0>2 + 129;\/<xl_—xi_1)2 +<yl~_yl-_1>2 +\/<x,0—x9> +<y10—y9)

2 2 2 2 ? ’

B o O e v S e

2 2 2 2 ? ’

AS:\/<X4_X3> +<y4—y3> AS:\/<x5—x4> +<y5—y4> AS=\/<x6—x5> +<y6—y5>

2 2 2 2 ? ’
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2 2
As= \/(xm —x9) + (J’m —y9)

]

:= Minimize (PE ,x,y)
[yJ \ Y

10

stack (vy,v,y;9) (M)

stack (v,y,y;9) (M) ’ . *
> ° ¢

stack (xg,x,x;9) (m)
’ (] ¢



S=\/<xo—x1) +<y0_yl> +§j (xl__l—xl_) +<yi_l—yl,> +\/<x9—x,0>

As:\/(xo—xl) oy =1

( 2
> '\AS=\/(xt—1_xl-) T, my) j=8=l

As:\/ (5, =) +(r, =) =1

+ (yg—ym) =1



